E38E 1 RAE

<3 1 XAREX >

| 6 | FZHOILE 1R
HTERDME

1 A<B7%&5IE A+C<B+C

2 A<B%ZBIE A—C<B—C

3 A<B, C>0%518  AC<BC, %<%

4 A<B, C<07%5I3 AC>BC, %>%

1R ERDBES
O BIELT, ax>b, ax<b, ax=b, ax=b DIZEHET 5,
Q@ W% x DFEH a TEH B, a<0DEZTIREBORENSEDLDTHEET 5,

EETAEFNDORES
@

A>0 — B>0——
@ﬁﬁ%iﬁ{ DEIE, A>00DfEE B>0D A>0—

B0 /V/%%
FROILEEFETH 5o x

@ A<B<CH, A<B & BLCHRRIZEDIDZELERALTH 2,

CTRIALA
63 kO 1 RHERZET, —[Ep.34 123
(1) 2x—5=7 H2) —6x+3=4x—12 (3) 3(2x+4)=b5x
4) 0.9x+1=1.2x—2 (5) x=%x+1 *(6) %x—lz%l—
64 IROPWEOK/NEZREAREX TR, —Ep.35 Bl 24

(1) 5 x%2TE->TIZFIVHEIxDABIOKREN,

2) 2¥a, bOBIAT, »D -3LULETHS,

(3) 1A80gDFEMx % 300g DHT 1 DICE&WANIzE X, 2ERDE
138008 LT TH 5,

65 a<bDEE, RD2POKRNERES > F2ld < THRES —~Ep.37
(1) a+3, b+3 (2) a—4, b—4 (3) 5a, 5b
a b a b
4) —6a, —6b (5) Ty (6) 5 s

(7) 2a—1, 2b—1 (8) l—a, 1-0 9 —(a+1), —(b+1)

10—

Hpreis
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glranged

66 ROARERD> S, x=4PRETHHHDEEN,

—Ep.38 fi 26

O 2x+1<5 @ 1—x<—2 ® —3x+5=0
67 O 1IXRAEXEHET —HEp.38 27, p.39 128, p.40 HIZES
(1) 8x—7<9 *2) 2x+5>-—1 (3) x—16=5x
(4) —x+12=<2x *(5) Tx+1=2x+6 (6) 4x—3=2+3x
(7) 6x—5>8x+13 “8) 7+2x<5x—6 (9) 2x+1=4(x+3)
)

10 32x+1)>x—2 *U1

68 WD 1 WAER =2/ T,

3(3x+1)<7(x—2) 1

3x—4=5(x+1)

—[Ep.40 BIE9

1 4 * 1*39«1< - x—1 _4x-+5
(1) 2x>5x+3 (2) — <3(1—2x) (3) 5 < 3
L2 1.1 5 1 3 x—6 x—5
* e B e i S o e - = 2 A . S N
(4) S AT g Z X 1 (5 8x+2<x+4 (6) 7 5= 1
“7) 0.2x—1=0.4x—1.5 (8) 0.2x—0.09>0.06x—0.3
69 WOENAERZHET, —Ep.41 BIE10
{3x+8%4x—3 @ [5x+2<3(2x—1)
203x+1)>x—2 —4x—5=<3—2x
— >
“ 2(2—x)z3x+14 ’ [7(x+1)>3(x+5)
x5 %6 0.5x—0.7< —0.2x+1
5 7
70 RORERX 2T, —Ep.42 HIZE 1
(1) —3x—2<x<0 (2) —3=5x+2=10
“(3) x<3x+12<8 sy %=l 2xt] xtd
6 3 2
(5) —0.03<0.1—0.02x<0.3 (6) 2x—1=<x—3<3x—11
TRIALB

71 WD 1RAEREZ@B T,
(1) 7x—2 zx+J7 )
3) V/3x—1>2(x—1) (4)

3(x—+/5)<5x—+5
V2 (x—1)=x+1



EIEE 1 RAENL

72 WOARZER 2N TRINDERE n 23KD Ko —Elp.42 FHFABIRE 5
1) 3(n+2)<7n—15 *2) 13(n+5)=7n+200
73 WOARZERXZWMITERAODERE n 23KD Ko —[Ep.42. [HFBGIRE
_ o " n+4 1_1__11_
(1) 2(6—n)>4(n—3) (2) 6 < 53 3

74 (1) RER 6x+8(4—x)>5 DEDS B, 2H0EREETATRD Ko

“2) x%ﬂ—%<im+%<1%ﬁtﬁgﬁn%ﬁxfﬁw;o

75 300 D4 —F A & 340 D —F B 2&bE T I5HE, 200 HOE
AN S, FEDFEL 5000 HUANTB 2 TEHLTZED &, A,
Bl EhZhAEE X 575 , —Ep.43 FLABITE 6

®76 16% OBEIEKE 8% OBREKEEET, 9% LIE10% U RO A%
500 g /ED 72\ 16 % OEIEKIZMA g BLEA g BIRICT iEZ Vv,

77 ﬁ%f%@@@mﬁ%1m%mﬁﬁxﬁaa3&@5;5nx@@@ﬁ
HZED Ko

78 xIZOVTOARER x+a24x+91I2D2WVT, WOMBWVIZEZ Ko
(1) ErPx=2E%5E91, B a DEZED K
2) BHEx=—128T&L21C, EHa DEOEHZED K.

YR 76 BEKICESENIBEOEREZ S, 16% DRIEKx g ICEETNL2RENCER

16 )
(o) & T3
77 INBUEE L RIRVIRFAEALT 3122 581%, 2.5 L ET3.5 KD/hE,
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FlERHER

| 8 ] ientiEESsAER - FEk

niExEESUAER - A5
cHEOEBDEE FER [x|=c DRIT x=*c
RER |x| <c DRIE —c<x<c
RER |x|>c DfEIZ x<—c, c<x

TRIALA
79 WwoHER, NEXZHET, —~Ep.44 130
1) |xl=4 (2) |xl=1 (3) [x[<9
4) |x|=5 (5) |x|>6 6) |x|l=1
80 morER, TEX2EIT. —Ep.45 BITE 12
(1) |x—1]=3 (2) |x+1]=4 3) |x—2]<4
@) |x+6|=1 (5) |x—3|>2 “6) |x+5/=8
TRIALB )
81 MoFAER, AEXZHES, —Ep.46 #FSRIZE 11
1) [2x—3|=1 (2) |—x+4]=9 “3) [3x—2|>1
4) |7x—1|<1 “5) |2x+5|=2 6) |6—x|=4

B - N
Bl [x—2| OENMERL S £ 13T,
AZ0DEE |Al=A, A0DEE |Al=—A

1 ox—2200& % |x—2]=x—2

L x2<00EE |x—2|=—(x—2)=—x+2
L EoT xZ20EE |x—2|=x—2

x<2DEE [x—2|=—x+2 =

82 WOROMESMETE 2139,
(1) |x+1] (2) |4—x| (3) [3x+2|

reVE 81 (6) x DR —1ICER. REROWML2EOHTES &, RESOHEEHNLED
%o



E3E 1 RAER

FgE HER |x—6]=2x 2T, —Ep.45 TR
x DEOHFETHEEN T2 L, HxERE2139 L THEL

[1] x—6=0 T7&bsE x260DLX
lx—6|=x—6THHP5 x—6=2x
InE@R & x=—6

| ZhIE x=6 2T S 20, EXKS T x DIED

| [2] x—6<0 TAbE x<bDEE X DEMEEH:T
lx—6l=—(x—6) THBHPS  —(x—6)=2x PEINERND.
INERLE x=2 ZNIE x<6 22T

11, [21 »5, Rz x=2 B

83 woHER, FEXL@ET, —Ep.45 THE
(1) |x—3|=4x (2) I3x+2|<2—x

| angeE |

- i

15 FER I+t 2. |

35 x<0, 0=x<4, xZ4 D IWVITHED I 2T 5,

T [1] x<0DE & Ex<0, x—4<0 |
lx|=—x, |x—4l=—(x—4) THHP5 |
—x—(x—4)=6 INE@BNT x=—1
Zhid x<0 27z 9 . |
[2] 0=x<4DE&E Exz0, x—4<0
| |x|=x, |x—4|=—(x—4) THEP5
| x—(x—4)=6
CRRRD IR D S, RETH . 5
[38] xz4 & & x>0, x—420
lx|=x, |x—4|=x—4TH5»5
x+(x—4)=6 INEFNT  x=5

L x4 BT,
[11~[31 »5, #E x=-1,5 &

84 WROHFENR, AEXEHET,
(1) |2x|+|x—5]=8 (2) 2lx+1|—|x—3]=£2x+1
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